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characteristic of inclusive
education
() It suppﬁ}ts special educationa)
needs LN
(2) It says @ celebrate diversity
(3) This en(s)ures the pa.rticipatiqn of
teacher, parents, child and society
(4r1t is limited to the special
" education of disabled children

Which of the following is not a

feature of  continuous and

comprehensive evaluation ?

(1) Regularity of assessment

(2) Frequency of unit tests

(8) Diagnowsis of learning gaps
Meas onl scholastic

H?’achies?!)y‘tgent Y

.In a learn@ situation presenting

relevant facts separately from non-

relevant facts, is indicative of which

principle of learning ?

(1) Principle of multiple response

{2)yPrinciple of analogy

(3) Principle of prepotency of
elements '

(4) Principle of associative shifting

. Which tests can be administered

by the teacher to identify creative
children ? ‘

. @)
(a) Figuregonstruction test

~(b) Produ@mprovement test

(&) Usual uses test

(d) Picturer@ompletion test
Choose the correct code -
(1) (@) and (q)

(2) (b) and (c)

(7 (), (b) and (d)

(4) (@), (b, (c) and (d)
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12. Which of the following is not a

f teacher in promoting
hildren ?
ual project

helpful action ©
socialization among €

(PHGiving the individ

work a4
(2) Assigning social respons1b.111tles
(3) Organizing co-curricular
activities e
(4y Motivating for SO
. partici;gr?tion

Whl(;h of :tﬂe folloviring is not an:
example of\developmental change;s
under acq&?sition of new features :

(D Permanent teeth -
(2) Primary sex characteristics

(3) Secondary sex characteristics

{(,4-3’ Thymus gland

14. Which opu%)n is correct regarding

15.

emotions iff early adolescence ?
(1) Intensétgnd rational

(2) Unconfrdlled and rational
(3) Uncontrolled and irrational
“)~Controlled and intense

Which of the following gender
biased actions are nof to be
involved in educational practices ?

(a) Homogeneous grouping

9->4 Gendq‘gneutral content
(c) Stereof¥ped occupation
guida

(d) Teacher's prejudiced attitude

Choose the correct code :

(1) (@) and (b) (@7(a), (c) and (d)
@) (e)and (d) (4) (a), (b)and (c)

ﬂ
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6. Which strategies of learning is not
& Wﬁ & appropriate :VT‘L)OI the learner of
6. 9 HreAtieh ﬁ%—:{—iﬁ ot UG senior secondary leve] ?
far ‘c'ﬁ'?@l‘:’f %l m/Lear'ninggt?lsks at memory leye]
F{f)?' zﬁm—[ = Fiﬁ'[ & W HT 2) A_llow*ingo self-discovery of
Ez) o 5 e FA ol knowledge

(3) Civing appropriate space to
classroom interaction

(4) Student Dcentered teaching-
(4) TRror-sfe™ et i & learning :311
A 11. According to ﬁeud‘s psycho-sexual
17. HE8 F TG [ Farcrﬁ?f ' development-theory, the stage in
AR, T8 o e ERIR S which adoledebnt attracts towards
fo g ufy oTEld B B, opposite sex, is known as :
?E"f@iﬂ. TR (2) T S (1) Phallic stage (2) Anal stage
@) ) @) T aTge _(3) Genital stage (4) Latency stage
Sy g R e 18. According to Piaget's cognitive
18, %Gﬁr AR T @ \34122 ) development theory, when the
? 3 49 of 3 learner maintaining a proper balance
: RiL between himself/herself and his/her
TGl &, @ AE HiFEr Fwand ® environment, this mechanism is
_ 3 called as : ;
(1) THRISIHTOT . ' (1) Accommodation
(2) ST f % (2) Assimilation
(3) AR ' (3 Eauil
qulhbraﬁz?n
(4) T

(4) Integratidrﬁ) |
19. Eraﬁ%fzﬁ S T YR iR yefora |

r~
LS LCEl 19. When the as$essment is designed
gafy Glﬁab_{g iﬁ%ﬁ Wifvtntl—,_-r # ; o evaluate student's overall
FEA 8 " achievement and proficiency at the
end of a learning period is known
as ;
1) € W :
EZ; e zr%ﬂ! Tk (1) Assessment of learning
Q) drEw G i%fq I’L-qu mssﬁssment for diagnosing
(4) STER 3 EE . . -(3j Assessment for learning
. e (4) Assessment for remedy
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20. 'A disorder of writing ab1lty

a learner has difficulty with letter
B I motor

formation, speding, fine .

co-ordination eﬁg.' This disorder 1s

calledas: - org
(1) Dyslexia O
(2) Dysgraphia

mYspraxia

(4) Dyscalculia

21. Match the following stages of
Kohlberg's moral development
theory with their characteristics :

Moral Stages o Characteristics
A

(a) Conforming (o8] (i) Getting the approval
obtain reward I of others

(b) Maintaining socim (ii) Stage based on seli-
order © interest

(c) Good interpersonal (i) Eternal value accepted
relationships by consciehce

(d) Universal ethical (iv) Importance of justice
principles and law

Choosg the correct code ':

R
"

@  ®) © (9

AT v oL@ i)

@) @) @y G ()

@ v) Gwy @) (ii)

@ O ol @ )
(‘Y')

22. Which constiﬁd:t)tional right of

children with special needs does
inclusive education protect ?

(1) Right to Education
(2) Right to Respect

(3) Right to Acceptance
(Aj’ﬁight to Integration

=k
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24. EAETCR m;ﬁm A Ry G2 24. Arrange the steps <.:-f Bandura's
_;'r @Nﬁ & P AR ﬁﬁlﬁ " social learning theory in sequence -
I' (a) TEER iR (a) Perception of behaviour
(b) TR T 3‘1’5?*!‘-{ ~ (b) Reinforcement of behaviour
(©) IR 1 TRy (€) Remember of behaviour
(d) BT 9t Fparays qiRorfy (d) Convert the memory into action
, N i RE W TG T Choose the correct code :
. (1) @), (o), g), (b) ) B (@), (c), (@), (b)
() (b), (a),ﬁ), (d) (2) (b)), (a), (o), (d) @
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| STfere 7ET @T-IT t _ influenceq by heredity ?
O SR (2) oy - (Y Aptitude  (2) Aminge
@) Ham (4) SRRy ; (3 Emotions M Interest
26. fr=faiag: g3 PIF-T B ke ZX‘ Which of the following statement is
Frerem & He F T § 7 not correct Tegarding individual
: differences ?
(1) JafRe RISTAT STTes RCHE T s (1) Individug) differences exist in
HE] B q Bl Bl _ ' ‘ both Cognitive and Psychomotor
: ' domain,
(2) Jafrr N T g TSTfeRT (2) Species characteristics influence
ﬁmaﬁ% T qgar ¥y individua] differences_. N
3) FfrT F BT i L Mhe  cause o mdmdclf:]
BIRICE| %YW% Mferep CIRICEN dlffc-_?rences s the hszical
T& ES : ' , env%ronment, not the phy
B Ere environment.
(4) T gear 2 o, W A (4) Age also has an effect on
; I

individual differences.
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Which of the following types of

questions is not suitable for testing
student's expression of feelings

and logical thinking ?
(1) Analytical type
(2)Critical type
«Qﬁiscussion type

(4) Multiple option type

Which one of the following is
not a component of progressive
education ?

U Discussion

2y Meméfizaiion >
(3)" Experientation

(4y Interaction

Which of the following is not an

acquired motive ?

(1) Affiliation A2FAchievement

(3) Approval (4) Pain avoidance

Which_ .of the following is nof an

environmental factor

affecting
teaching-learning ?

(1) Learning material

(2) Physical conditions

(3 Recreational facilities

(4) Maturation

a2y
oty
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: 1
the following questions by se
er

Direction : AnsW et
Fill in the blank wit
46. n |
option: | _
i ield's grammar 1s an in
Nt'e e ... grammar.
Of coveninnnnne

(1) universal (2) cognitive

iptive
(3) descriptive »(—4‘)/prescnp

o
Fill in the blankvith the correct

41. Fill %
Opnorrllir:l learnqur% to discuss a
gngn ig English~in their native

language is an ifstance of the use
OF sovcesumanns

(1) evaluative comprehension

(2) multilingual resources

() pre-reading skills

k4 first langquage acquisition
Direction :

! (Q. No. 48 t0 57) : Read the
following poem

answer the
questions that follow - o
Mother, I am the one ™
you sent away poll

SA
when the doctor tolq yoi(S
Iwould be

a girl - In the end they had to
g9ive me an Injection to kil me,
Before I died | hearg
the traffic rusp in

slush, the wing Sulking through
your beloved Mumbaj —
[could haye clutched thgneon blue
N6 one wanteq _

M
No one wanted g

..
@E‘r in the

$) dutopsy room
when they knew my mouth would not

g outside, the monsoon

To touch me — except |

Search
for an ything - ang my head coyjy be

- ~ Measyy,
and bent cyt apart, » o

[level-3 / 5301 ]

Google Play

ost appropriate option_
eding:;?k;na sliced pomegranate,
”oofil‘t you never touched.
The rr [ am the one you sent away
e t’he doctor told you
When]d be a girl —your second girl.
Lo ards, as soon as you could
Aﬂem;t on your grass — green sarj —
{;: fyange stems of the parijatak

blossoms
glistened in your hair —
Afterwards
everyone smiled. - 4
But now I ask you @
to look for me, mother,

look for mé because

Iwon't come to you in your dreams,
Look for me, mother, look

because I won't become 3 flower
I'won't turn into a butterfly
Andlam not g part of any
Look, mother,

look for the place where you have

one's song.

- sent me.
Look for the unspeakable.

forthe place that can
Look for me
this js What
Look for m
this js nhot

never be described.
» Mmother, because
You have done,

€, mother, because
'God's wilJ", _
00k for me, mother M b
€Cause | Smell of formaldehyde -
Smell of form aldehyde
nd still, | wish you would look
for Me, mother.
48. Whe does the girl address ?.
(1) the doctor (2) the Soc::g
() the father _(4)-themo

p.T.O.
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‘49. In which c;ity does
take place ¢
() Delhi .
&) Mumbal . 5
50. (What does the killed infan
of?
QY jormaldehyde
(2) parijatak
(8) chlorine
(4) slush

51. Whois"I"in the opening line ?
(1) the poet -
_(2Y the killed infant girl
(8) mother
(4) the doctor

52. Fill in the blank with the correct
option:
P:ccording to the speaker the
mother disliked .......... :
(1) oranges
(2) parijatak blossoms

pomegranates

(4) the grass-green sari

the foe"icide

(2) Chen‘ﬂ&i
(4) Pune
' mell

53. Find a word from the poem which

means "post mortem" :

(1) formaldehyde
{2y injection to kill -
(3) neon blue
(4) autopsy
in the womb

54. Why was the infant
killed ? -
(I) because it was defective
LWEEC&LLS!& the mother didn't want
a second girl child

(3) doctor's mistake
(4) itwasugly

35. Which one of the following is useq

as a literary device in the

¥ poem for
efiectiveness ?

(1) zepetition (2) climay
%pny

(4) metaphoy
e ——
[ Level-3/5321 ]

56.

51.

58/

59.

60.

R

GET ITON

Google Play ‘

Fill in the blank W

option | (e T
"] looked like a sliced po

is an examg})e Of s csciesnmens i

5
(1) metaphe .
(2) an impﬁd simile
3y irony ™M

B
(4) simile ¢ .
Find the word in the pgem wl:mh
means "shone due to being wet".

(1) glistened
(2) sulking

(3yclutched

(4) blossom

Fill in the blank with the correct
option : _ . -
T1p1e twog kinds of listening
g - (RRRRA— oy .
(1). active end passive .

) skimmiRg and scanning
%}f intensi@ and extensive
Méferential and inferential

Fill in the blank with the correct
option : -

............. skill involves training the
learner to listen for the English
speech sounds including stress
and intonation patterns.

(1) listening (2) aural-oral
_(3)YTeading (4) writing

Choose the correct option :
Assertion A : The d;

_ material is that it lacks
Interactionf=nd the use of audio-

Visual eleniints.
Assertion \B) - Print materials are
not portable, not easily available
ost effective.
_(DKis try ; B is false
(2) Bis true; A is false
(3) Both A & B are true
-(4) Both A& B are false

—

i1
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W veqe | GENERAL STUDIE

Google Play

| T

0

o:'f‘-"j

S | QUANTITATIVE APTITURE,
AN FE o
RIS ‘31"1511. IRy ST iE[K[ TAWAHENESS ’ ‘qfr'l'f{l
REAsONING ABILITY%AS_?_{GAZ‘;‘ °q‘; f gy Sferr A 2
R met @ o @

l')]: c n(!t i et i et
ectiun H 1N'n questionﬂ by ﬂelc ti

ftht

. y ol § o P

o g%@o%ﬁ%@%lmﬁ

T S e A A O
Tt T
. .
1?1?20%@ = (2) 18 Tl

il
@) 10 R © (4) 5 B

A C % R & @R D, BH T ¥ E,
A;E‘gﬁt%l C,D® T4 &l B,EW
Bt

(1) g
(3) Hm@r
=

62,

63.

(4) T
Al 10 RE=R, 2022 F R o1, @
8 » 2024 H BT R By ?
(1) I¥ErR (2) TEEr
(3) EFER (4) HEER

65. T% Mg B AN FH "sun shines
brightly" & "pg lo sul", "houses
are brightly it %1 "kado ula ari

ba" 3R "light~<¥omes from sun"
"dopi ku SIS

64.

P lg nro" femar

"sun" "brightly" & fer

T 3%@1 ™ ® ?

(1) sul, ba (2) sul, lo S
(3) ba,lo

[Level-3 /5321 1

61 Rekha walk

g 10 ke straight and
then turns right and walks 10 L

'y time turning 1o her jefy
r:;:gn %‘ZS{Z B, 16 and 16 up,
respectively. How far iz she noy,
from her starting point ?

(1) 20 km (@) 26 km

(8 10 et © " 1EE fom

/A is father of C and D is son of p, 2
o is brother of A, C ix sister of )
How is B related to E 7

(1) Daughter Mistepin»law
(3) Mother (4) Husband

Five men P, Q, R, § and T read 4
newspaper. The one who reads
first, gives it to R. The one V4elo
reads last, had taken from p, 7 VAS
not the first or last to read. There
were two readers between P ang
Q. Who reads the newspaper last 7

63.

1) Q (2) R
L3S (4) T

64. If it wag Saturday on 10tn
December, 2022, what will be the
day on 8th December, 2024 ?
(D Saturday (2) Sunday

.. *¥ Monday (4) Tuesday

65,

In a certain code language "sun
shines brightly" is written as '
sul", "houges

"kado ula ari

lo
ightly lit" as
Iear%}{t come:“s-
°m sun" as "dopi kup _1° nr%;
What code words are vmtt_en}_. -
"sun" ang "brightly" respectively ’
sul, ba (2) sul,lo
¢ 3) ba, 10 (4) lo, b2

p.T.O
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[16 ' .
/C] Pt

66. fow=y gof ad1 #1 T T E;;j"
MONRO, JSKTL, GUHVL pW/

(LAYBZC (2) AZCYC
(3) BYBYD (4) BZCZD
o s
6
81, :qﬁ' tan 0 + sec 0 = 4, a1 cos
LA AT B
8
by 2 8
Y ¥ 1
18 17
3 gy —
(3) = =

68. zasoq%gu?qﬁqqﬁ%ma?ﬁ-ﬁi
W@ o e @ @A 7o
e ?

() 2 _(,9.)\3/
%63)4 (/4,)/5/
69. oD ¥ 45,000 7 # TF FHEA T5
3K %5 @@ a5 Q 80,000 5T
A At gom AR @i & AT
ngﬁmiﬁﬂz:l%mﬁ
arer T, @ .Q FA wrtd g !
(1) 3 918 a%  (2y4 AE 9%
(8) 5 HEB AE  (4) 6 WE A=

70. aR &9 dead 3 : 2 : 5 U
R ¥ B 5 genedt & F A
AT 1862 & ATAT &l WA A HEAT

X B
(17 (2y14
@) 21 (4) 35

71. 5,290 T ;r‘uf%fq;;, B ot C 3
@mﬂﬁgwm‘lﬂmi

(1) 920 27900
(3) 880 (4) 880

[ Level-3/5321]

66-

67.

68.

69.

70.

8

GET IT ON
fFind 1% nert = g
ies - cogle Play.
leﬂe‘! serl : GUEVL
MOﬂﬂo,ZJSK’I’L (ZU)"’; chIZg
a2 (4) BZC
3) ' "
Iftanf3+sec9=-'4,men :
of cos 918 equal 1© ;
(D -1—82 2 17
15 y 17
€)) 7 (4) =
ber b
is the gmallest num y
W]:Lat 15 t be dlsnded in

which 2880 mus )
order to make it a perfect sqUaLeE
(1) 2 2 2

(3) 4 (4) 5

P began a business with Rs. 45,000
and Q joined with Rs. 30,000 after
some time. If the profit at the end

of the year were divided among
them in the ratio 2 : 1, when did Q
join ?

(1) after 3 months (2) after 4 months
@) after 5 months (4) after 6 months

If three numbers are in the ratio
3 : 2 : 5 such that the sum of their
squares is equal to 1862, the

. middle number is equal to :

(M 7
(3) 21

(2) 14
(4) 35

A, B and C together completed a
work for Rs. 5,290. A and B

oy 19
together did 23 of the whole work.

Amount received b .
! c Rs. i
equal to : ¥ AL S AR

(1) 920
(3) 880

(2) 900
(4) 850
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Sy T O 5% A & W 2
Smm@maﬁ'{mm““ﬁ
T 1560 B T X @

12.

D 2,000
(3) 6,000

(2) 4,000

_(#)-8,000
B @ B, R &6
- ?ﬁﬁo, 9 Mo 3R 12 Ho Bruetl ad
FAM: A9 IR e B AFwA
SR B 8, SEK ®

() 16 o _(2) 17 Ho
(3) 18 Hio (4) 19 Hio

74, ™= 3ol 1 PN 0T B

(= (e

(QE)TS, i _
127 ' 133
) Iﬁ] @) EE}
P q
©) [ﬂJ @ ﬁ) -
P q
15. 919 & SAIHR TEY H STEGT 748
T ¥ gEe T 14 A ol e
Ted B 9 W ¥ oumy @ e
TR T
(1) 0.25 ¥ (2) 0.5 I
(3) 1.0 ¥ (4) 1.5 §0

76. é’t‘ﬂ?ﬁmq@u'%mﬁlzzw
I BN T AT F ST ¥

A 1:2
@) 1:2/2

[ Level-3 /5321 ]

) 1:+/2
(4) 1:4

12.

B 2w

‘

13.

14.

[AG g - [cr{]m (EOTS
ot il e ’ = 1
=\ nd g _ J

15.

16.

GET ITON
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The difference between the
compound interest and simple

interest on a certain amount at 5%
per annum for 2 years is Rs. 15.
The principal amount is equal to :

(1) 2gpo (2) 4,000
(3) 6¢800 (4) 8,000
L

The #adius of a circular field,
whosgarea is equal to the sum of
the area of the three circular fields
having radii 8 m, 9 m and 12 m
respectively, is equal to :

(1) 16 m ° (2) 17T m

(3).18 m 4) 19 m

Next term of the following series is :

(‘é’g]’“, .

&
127 133
(IX v
(5 alf)
P q
f_vz] @ (fi]
| D q
The the metallic
cylindrical pipe is 748 cm®. Its

length is 14 cm and its external

radius is 9 cm. The thickness of
Pipe is equal to :
(1) .0.25 cm
@) 18 cm

volume of

(2) 0.5 cm

(4) 1.5 cm

The fglrface areas of the two
Spheflgb are in the ratio 1 : 2. The
ratio ghtheir volumes is :

(D1 22 () 1:2
®B) 1:2/2 (4) 1:4

PuTa0:
> 0r6*0

ﬁR’- - ek sim

< WMy

L
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80.

8l1.

82.
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mn
- Find the missing terrn
J{ ?Tlowing number senis :
2.9,28 7% 126, 217, 34
() 37 (2) 655
gt o5 jlateral
B SIS inscr i i fxfuci:r&::le.lf
- triangle ar€ inscribed 11 @ e

te the lengths ©

ively, then which of

5 and b deno

sides T eSPQCt. 2
the following is (ra€

gi o
) 2a°=3b° (2 3§ ”32
@ a°=3b° (4 b =22
Line : Square : 1 ATC: ¥

(1) Ring (2) Sphere
(3) Circle (4) Ball

A,P,R X, Yand 7Z are sitting in a
row. Y and Z are in the centre and -
A and P are at the ends. R is sitting
on the immediate left of A. Who is
sitting on the immediate right of P ?
M X 2 Y

3) Z 4 R

Who among the following did not"
serve as the Chief Secretary
during the Chief Ministership of
Manohar Lal Khattar ?

(1) S.C. Chaudhary
(2) P.K. Gupta
(3) Shakuntala Jakhu

(4) Vijay Vardhan

Who was the First Chairman of
Haryana Public Service Commission ?

(1) Dalbir Singh |

(2) Darbari Lal Gupta

(3) Bhim Singh

(4) Manoj Pandey

-
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83.

84.

85.

Wﬁézﬁq—% gl gak
g 7

(R)uﬁ‘&%a@ - RER
(B) W—Q—a‘%‘tﬁr - T
(C)ﬁ@?’rmaﬂw - Wi

G
el F @ Woﬁﬁw :
1) &) T (C)
(2) (A) T (B)
3) B) T (C)
@ @, ® ™ ©
e ¥ ¥ e aw o9e \
SRy fﬁaﬁm veifear & aﬁrﬁaﬁ
g m
(1) ENE™ Wﬂ?ﬁi
2) RrgEm g
() T E-TTaH THIRTT
(4) &Y STHIARTY

ﬁéﬂﬁ%@%ﬁﬁﬁﬂﬁf@a
FOE B T

(R) ST A TR SfeR ToEe &
TH MEH 5 S BeE an

(B) M@ & AR YL e &
ARA H T IS 9K e

C)

Hé??gj:’aa‘rﬁq:r*ﬁﬁq

(1)%%@)@%1

(2)%%@)8@%

@ T T T @ T A FH (B
a9 &l

(4) A FE T T
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which of the following are
correctly matched ?

(B) Gujari Mahal — Hisar

(B) Aram-e-Kausar - Narnaul
(C) Tomb of Sheikh — Jind

Tayyab
Choose the correct code :
(1) (A) and (C)
(2) (A) and (B)
3) (B) and (C)
(4) (A), (B) and (C)

%ﬁ;

Which of the following wild life
sanctuaries is located in Shivalik
hights ? o

(1) Khaparwas Sanctuary
(2)Bhindawas Sanctuary

(3) Khol Hi-Raitan Sanctuary

(4) Nahar Sanctuary

Read the following statements about

Pehowa Insgription :
(A) The inscription was issued by a
ruler of Gurjar Pratihar dynasty.

(B) As per the inscription, Pehowa

was a famous market of horse
J_
dealers.

Choose the correct code :
(1) Only statement (R) is true.
(2) Only statement (B) is true.

statement (A)

nor
statement (B) is true,

(4) Both the statements are true.

B, L4,
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the following stateme,

¢ f
[20/C] ' —— ¥ 86. thhsicr) Choturam are correct? ]
g6, w0 oo & w1 FC Do gan his cazeer a g
LA (A) He bed an %
wﬁqzﬁzﬁ'rm%@qﬁmﬁ Congressma™ . D
(A) I et 4 3) Later be joined Unionist Party.
%Wﬂwmim " ”mw%3MMMh”m
@ @@ ¥ I I ©) ¢ of Undivides
Fee dll governmen
C) ¥ s o @ A A T Punjab. -
( )Ti':ﬁ N Choose the correct codeé‘ -
are
a8 T 0 aq:{cqffﬁ[q : i (1) Only sttatement (B)
1) daa F49 (B) 791 (C) Tel &l correct.
o Ty (2) Only statement (A) & (C) are
o .
(2) FFw FAT (B) T (C) FE & correct. -
e (3) Only statement (A) is correct.
(3) Fa Fo (B) T ¢ (4) statement (A), (B) & (C) are
(4) YT (&), (B) T (C) el gl correct.
87. W A Nenfie  dege @l 87. Where the Indian Institute ol
=i Information Technology is being
S g 5 i g
() Rrodt : @) (1) Kilohad (2) Baraut
(3) CEl 3(4) SO (3) Pipali Khera (4) Rasulpura
g8, Preiefae & AL dw-ar e e 88. Which of the following districts is
AT B w7l g ? not part of Rohtak division ?
(1) F=R L(2) G- (1) Jhajjar (2) Sonipat
; (3) ECiN] 4 tE”g.l, (3) Bhiwani (4) Rewari
" g9. 37F YOS RIS BEIAeT Al 89. Which of the following was the
F i T Hr-a1 a1 ? theme State for the 37th Surajkund
. International Crafts Fair ?
& i (1) Madhya Pradesh
(2) T (2) Rajasthan
Ei; AT 2, (3) Manipur @
oI o (4) Gujarat
L
90. - gREmT @ rri%w;qzafrﬁ o 2023 90. The woman wrestler of Haryana who
B2l G:lﬁ"-[ W It fpm ? - received the Arjuna Award of 2023 ?
(1) offcr de (1) Antim Panghal
(2) & Hferw (2) Anshu Malik
(3) M g (3) Geetika Jakhar
(4) Tl Afers (4) Sakshi Malik

[ Level-3/5321]
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92.

93.

94.

95.

96.
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c‘tion: Answer the
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_IV ! PART

aeal COMPUTER SCIENCE

@Tqaﬁq;q-(a?{' F«‘mﬁi

---------

aﬂémﬂﬁiﬁﬁmel

- )
(1) Routing —
(3) Layer o

)

(2) Protocol
(4) Switching -

mﬁﬁﬂ@ﬁﬁww% Y
A T wic 3 d= @ GRR
s § FERG o@ 8 ?

(1) Cellpadding (2) Cell spacing
3) Cols (4) Rows

I TREE A @ F 9" HN
& IO HIA S ?
(1) Date Add,
(3) Date Suhq—\
MVC & T =3
(1) MemoryV Vu‘tual Controller
(2) Model Vmw Container

(3) Maximum View Controller
(4) Model View Controller

R T FE 3§ T S S ©
AR T UEH HiE 3 99 BT ST
mﬂﬁme@ﬁmﬁﬁrw
| G =

—

(2) Date Diff
(4) AddDate

~

(1) Virus |

(2) Program
3) Processf[:' (4) Thread
BEaY AT ........ N T B

(1) Guided Media

(2) Unguided Media
(3) Wireless Media
(4) 991 O g ¥

[ Level-3/5321 ] 3
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92.

93.

94.

95.

96.
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Sl B o 2 B W T IR R IO

following questions by selecting the most appropriate option.
____________...----__

is a set of formal
operating rules, procedure or

conventions that govern a given
process.
(1) Routing
(3) Layer

(2) Protocol

(4) Switching
Which attribute of table sets the
width, in pixel, between the edge of
cell and its contents ?

(1) Cellpadding (2) Cell spacing
(3) Cols (4) Rows
Which function calculates
difference between two dates ?

the

(1) Date Add  (2) Date Diff
(3)Date Sub  (4) Add Date
Full form of MVC is:

(1) Memory Virtual Controller
(2) Model View Container

(3) Maximum View Controller

(4) Model View Controller

Which is known as a piece of
program code that attaches itself to
legitimate program code, and runs
when the legitimate program Iuns

and harms the system ?
(1) Virus (2) Program
(3) Process (4) Thread

Fibre optics is an example of ....-- -
(1) Guided Media

(2) Unguided Media

(3) Wireless Media

(4) All options are wrong

p.T.O.
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o ¢
(1) <br>
@) <hl>
(3) <head> -
(&) Tt e W ©

a1 AR 3 G el
(1) Ordinal  (2) Numbered
(3) Unimial  (4) Binary

99. MAN # Tdwd @ °
(1) Mobile Area Network
(2) MAN Area Network %
(8) Metro Area Network
) (4) Metropolitan Area Network
100. T% 7RG ufean fomd &3 - d9niad
Hedde dRTaw #1 v den H
FHTE aRTad & aEqr o § ¢

(1) Natural Language Analysis

(2) Principle Component Analysis
(38) Hidden Markov Model

(4) Support Vector Machine

101. SQLH ........... B FYAT oo
ST 8 ST o1 2ol ¥ 39 2 B
(1) Table (2) View

(8) Base Table (4) Form
102. 9g99 ¥ 98 GHW GT F dget &

&7 FarT §
(1) Length (2) Len
3) L (4) Numchar

[ Level-3/5321]

GET ITON

. Google Play
ich of the followil! ]
97. gzumentsm ?
(1) <br=0
2) <hl>n
(3) <he

98. Logistic regression calt pionominal,

............. or multinominal. ;
(1) Ordinal (2) N'umbere
(3) Unimial  (4) BnaYY

99. MAN stands for : .
(1) Mobile Area Network
* (2) MAN Area Network
~ (3) Metro®Area Network

4) Metrgp olitan Area Network

L
100. It refets to mathematical

procedu.!@ that needs to transform
a number of possibly correlated
variables into small number of
uncorrelated variables :

(1) Natural Language Analysis

(2) Principle Component Analysis
(3) Hidden Markov Model

(4) Support Vector Machine

101. In -3 ) P is treated as a
virtual table that is derived from

other tahtes.
<
(1) Tablen (2) View
(3) Basedfable (4) Form
["\..

W 1 Pythof .......... function returns
the number of characters in string
argument.

(1) Length (2) Len
®) L (4) Numchar
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r&dda@%

....... aarr ¥ B R ol ggqﬂ
03 % o A NULL TE & TR €
1) Entity Integrity Cc?nstramt
@) referential Integrity :
®) primary Key Constraint

(4) Foreign Key Constraint

A-d DR GEREE D T Ex|
w A R ¢ 7

(1) StructuremProgramming

(2) Conventignal Programming
(3) Object Ogiented Programming
(4) Procedurfal Programming

= S A% 9 AR W R F

104.

105.

T8 @ ® AR o o 98 e
T W 3 [T, 98 Few ©

(1) Virus (2) Worm

(8) Trojan (4) Spy-ware
NIC % Aqad & :

(1) Networkdnterface Card

(2) Network%erface Controller

(3) New Integface Controller
(4) New Intetface Card

? argreTd AT SRR B ¥
(1) Group of characters

(2) Any single character

(8) Date _

(4) Multiple digit

URL % Heqe @ :

(1) Universal Reference Locator
(2) Universal Resource Locator
(8) Uniform Resource Locator
(4) Uniform Reference Locator

o™
FOPL #l AA@E
(1) First Ordet Predicate Logic
(2) Full OrdernPredicate Logic
(8) First Out Predicate Logic

. 106.

1017.

108.

109,

GET ITON
Google Play

103, The states that no primary
Key value can be NULL.

(1) Entity Integrity Constraint

(2) Referential Integrity

(3) Primary Key Constraint

(4) Foreign Key Constraint

YWhich programming pays more
attention on data rather than
functions ?

(1) Structured Programming

2) Conventional Programming
(3) Object Oriented Programming
(4) Procedural Programming

104.

........... does not perform any
destructive action directly and
instead, only consumes system

- resources to bring it down.

(1) Virus (2) Worm
(3) Trojan - (4) Spy-ware

106. NIC stands for :
(1) Network Interface Card
(2) Network Interface Controller
(3) New Interface Controller.
(4) New Interface Card

. The i3
represents :
(1) Group of characters
(2) Any single character
(8) Date
(4) Multiple digit

URL stands for :

(1) Universal Reference Locator
(2) Universal Resource Locator
(3) Uniform Resource Locator
(4) Uniform Reference Locator

FOPL standsfor: i
(1) First Order PreélCi:;eLI;ogic
(2) Full Order Predi®®r

(3) First Out predic

105.

wildcard character

108.

109.

(4) First Order Prepositionai Logic
! 4
[Level-3/5321] =

(4) First Order P
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111.

112.

113.

114.

: (1) Queue

115.

[ Level-3/5321]

24%
/C]

e (A -:r'?’"?% 7 "“
oEfttam 35 & s.r"‘"..’zu.: 2 ':"""1
% ,lf %l o
(1) Abstraction <t
(Z) Encapsulation g

(3) Inheritance r-’;

(4) Polymorphism

0 e R % -m%?/’f'ﬁf”"‘i?f
11]‘4'-?;

-

A E 7
(1) Update
(3) Select

(2) Delete
(4) Where

ol @ SQLé‘q‘:T:l 7 AT

---------

FEAIE. Hee-FH-a97 Fﬁ“ 2l
(1) Nested queries
(2) SQL queries
(8) Update queries
(4) Select queries

C735

(1) Packet Switching
(2) Message Switching
(3) Physical Switching
(4) Circuit Switching

000000000

@) Statk

(8) Object (4) Cldss

@@H q T {BY & 9@
29, IRAMWH YRy A

azr%a H & o B o

(1) Text (2) HYperl;nk
(3) Memo (4) OLE object

ccccccccccc

111.

113.

114.

1185.

GET IT ON
Google Play

............. refers to the procedure
of representing essential features
grithout including the backgTround
details.

(1) Abstraction

(2) Encapsulation

(3) Inheritance

(4) Polymorphism

Which operation is used to change |

!

the values of one or mmore

attributes in a tuple (or tuples) of
some relation R ?

(1) Update (2) Delete

(3) Select (4) Where

are complete select-from-
where blocks with in another SQL
query. '

(1) Nested queries o
(2) SQL queries 2 7oH
(3) Update queries '
(4) Select queries )
Which switching technique
establishes a dedicated physical
path between source and destination
nodes through intermediate nodes
of communication network ?

(1) Packet Switching

(2) Message Switching

(3) Physical Switching

(4) Circuit Switching

Toll Plaza

 Simulation is gap
application of............
(1) Queue (2) Stack
(3) Object (4) Class
In Access ......... data type is usedq
to store alphanumeric datg,
sentences or paragraph.
(1) Text (2) Hyperlink
(8) Memo

(4) OLE object -

|
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1111

118.

119.

120.

121.

122.

gé\dda@z]

0 TR A TR B
He W I FRE IRviE
RRAT ST T B

(1) OLE object

(2) Attachment

3) T P @ 8

@) o foeT T ®

e & § &9 w b
AN TET B ?

(1) Ring (2) Bus

(3) Stack (4) Star

Fioie § § 39 oS HRT
(1)

® i
() UieaR wd gidad

(4) o1 Toeen w8 ¥

PR TS W A fRem
ST & TF TE B TH-GEL
¥ A B A T A R ?

(1) Video Conferencing

(2) Web Hosting

(3) Customer Support Service
(4) Website Exploration

(LIFO) MeErhie TR H © :
(1) Queue (2) Stack
(3) Object

(4) Interface
2B, P TETY TAGH FT BT ?

(1) 1011101011, (2) 1110101011,
(3) 1000101011, (4) 1010101011,

Ugee ¥ Dictionaries STHHRI & Ry
gaﬁaﬂqﬁn ........ BN AR Hal
|

(1) Sequencing (2) Ordering
(3) Inheritance (4) Association

[ Level-3 /5321 ]

118,

117,

118.

119.

120.

123¢

122.

|

'Eé‘.g [25/C]

In MS Access Indexz can not be
defined using

(1) gLE object

(2) atachment

(3) Both options are correct
(4) @1 options are wrong

Which one of the following is not a

network topology ?
(3) Stack (4) Star

Which of the following is/are
example of cloud computing ?

(1) Web applications

(2) SaadS

(3) %ftware Plus Services

(4) %11 options are correct

Whith technique allows a group of
useg)located around the globe to
talk and interact with other ?

(1) Video Conferencing

(2) Web Hosting

(3) Customer Support Service
(4) Website Exploration

is a container that
implements Last-In-First-Out (LIFO)

- protesol.

(1) Queue

(2) Stack
) gbject

(4) Interface

What’ will be binary equivalent of
2AB9?

(1) 1011101011, (2) 1110101011,
(3) 1000101011, (4) 1010101011,

In Python Dictionaries organize the
information by

» Not position.

(1) Sequgncing (2) Ordering
(3) Inheritance (4) Association

23 +.:g

.1 O.

GET IT ON
Google Play |}
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124.

125.

126.

121.

128.

-----------

TN O Reie A el
(1) System Analyst

ooooooooooo

(@) Developer

(3) Programmer

(4) Debugger _

DA TR SR T8 Meid

T AW A e, s |,

RO A e 7 A e 2

1) CELLTYPE ;

) TiPE el

(8) VALUETYPE

(4) FORMULATYPE

UEREEE Yoies™ &l A H

e g S

(1) "Password to open"ﬁzl'ﬁq & gq

(2) '"Password to modify" [ & gid

(3) faeq (1) T (2) e &

(4) Tt ey o §

UeR@ES § 5 SThih Wgsl # 99

FH F [T, Gl Wes | e v
Foil g B ST WEE T

e T ST B .

(1) Ctrl (2) Home .

(3) Insert (4) Shift

562 H AT THCT FT B 7

(1) 101110010, (2) 101100010,
(3) 111110010, (4) 101110011,

TR &, ooeeennnnnn foeha & 9 ow
offe f6T T Mg @ Ted e gerdl
(1) Formula

(2) Protection
(3) Absolute referencing
(4) Relative referencing

[ Level-3/5321]

y/(

124,

125.

126.

128.

GET ITON

<1

improvementsy and designs an

information systern to implement |

the improvemgat.
(1) System AI%IYSt
(2) Developer

(8) Programmer
(4) Debugger

Which Excel function determines
whether a cell contains text, a
number, a logical value, an array or

an error ? o
(1) CELLTYPEx
@) TYPE O
(3) VALUETYFE
(4) FORMULATYPE

Which is the way to secure PowerPoint
presentation ?

(1) Select the option "Password to
open"

-(2) Select the option "Password to

modify"
(3) Options (1) & (2) are correct
(4) All options are wrong
In PowerPoint, multiple sequential
slides can be selected by clicking
on first slide and then hold down

.......... Key while you are clicking
on last slide.

(1) Ctrl

© (2) Home
(3) Insert

o (4) Shift

What will be gmary equivalent of
562g ? ™

(1) 101110015; (2) 101100010,
(3) 111110010, (4) 101110011,

In Excel, after is on you can
not change a locked item.

(1) Formula

(2) Protection

(3) Absolute referencing

(4) Relative referencing

analyzes the businesgg l
situation, idenfifies opportunities for

|
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mﬂﬁﬁaﬁmwﬁf%m
mﬁm%/%

(1) 39 (Top)

nt | (2) SITH (Bottom)

{ (3) X (Center)

L @) w0 e R

150, A F SRS T HE B

[ oo 3 Aw g e FE
H P BT ? 0

(h%‘c\%iﬁaézﬁz\
@) TRRE B
(3) TERRH Ve
(4) TUEE WAL

131, TRE ¥, ... oI [

T T B E, A T B T
(1) Fee

<¥
@) o W 0
@) o w2
(4) st ©
132, YT F “= =7 SR {A [} §
g
(1) RNET & & AR F IEH T

(2) A B Slfeotrey & HeT TAN &
It
@®) T ()@ (zg%'é‘r g
(4) T RepcT T
133. SDLC #H o &9 %U

(1) System Development Life Cycle
(2) Software Data Life Cycle

(8) Software Design Life Cycle
(4) System Design Life Cycle

[ Level-3/5321] ,i;til
"t

GET IT ON
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(27/C1
12 9/ MS Word options available for
In 3 -
alignment is/are :
vertica!
(1) TopP
(Z) Bottom
(3) Center

@) All options are correct

130. Which statement indicates an action
to be performed during execution
of assembled program ?

(1) Declarative Statement
(2) Imperative Statement
3) Direction Statement

(4) Compiled Statement .

131/ InExcel, ...ccooenenne refers to any cell
containing static data such as
numbers or text, but nbt formulas.
(1) Constant
(2) Data Validation

(3) Current Region @

(4) Object
132. In Python "= =" operator returns
true if :
~.(1) Variables are aliases for same
object
(2) Content of two different
objects are same -
" (3) Options (1) & (2) are correct
(4) All options are wrong
133.

Full form of SDLC is :

(1) System Development Life Cycle
(2) Software Data Life Cycle

() Software Design Life Cycle
(4) System Design Life Cycle

P.T.O.
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[28/C]
134. Yo gid w Iq@
Rar s ¥

(1) Analysis

(2) Planning

(3) Design

(4) Implementation

135, RO P 4F 8/8

(1) R Ea
(2) 2ET B’

.
wt
.....
wet

(3) T
(4) Tt foheq wé B
136. 0% Roagw A A9 A A fafea
%
(1) Data Types
(2) Data Structure @
(3) Scope Rules
(4) Control Structures
137, ORI F ... Afex F ITGNT
Riee & ooife % auRel w agaReny
# iR & & Rig R o 2
(1) find (2) in
(8) search (4) lookup
138. % R A 0 & B Ao
ST W Y T B SRR Ry
B TP Feald ¢

(1) Scheduling (2) Slicing

(3) Swapping (4) Kerne]

139. %wﬁﬁwwm%ﬁmﬁ
Hed # BIRG g Bl ST

S F I .

(1) Break-even Pojnt
(2) Rapid Application Develo t
(38) Acceptance TestD i

esign
(4) Throwaway Prototyping

[ Level-3 /5321 ]

134.

136.

138.

, () Swapping‘g (4) Kernel

Z?:H A %Egzltjgrie Play
of:

Gantt charts are used in ........_ Y
phase. o
(1) Analysis ":{
(2) Planning .,
(3) Design
(4) hnplemenEﬁon

Component(s) of interpreter is/are . '.,‘
(1) Symbol table Illn
(2) Data store - |
(3) Data manipulation

(4) All options are right ]

D P is the specification of
legal values for variable of the type,
(1) Data Typess

(2) Data Strucf]::re

(3) Scope Rul%zrs_’

(4) Control Structures

In Python ...:........ operator is used
to  determine the elements
presence or absence in list.

(1) find (2) in

(3) search (4) lookup -

The technique of operating system
to temporary remove inactive
Programs  from
Computer system :
(1) Scheduling (2) Slicing

memory  of

............ is :Q a collecion of

methodologies ~that emerged in
response to the-veakness of waterfall
model development and its variations.
(1) Break-even Point

(2) Rapid Application Development
(3) Acceptance Test Design

(4) Throwaway Prototyping


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

TEragvagy i i

Addal247,

140. ?f;R;iW -

Mo g o FA
thﬁﬁﬁﬁmnagém@ﬁﬁﬂ
I
) TR e G ot T

141,

Fim e v w3 4 | 14L

TN s G B O B E L
(1) COUNT

(2) COUNTA S5
(3) COUNTBLANK Eﬁ‘v‘
(4) COUNTB

142. THT H SUM BFE B ceevnennnnns

TR A9 A PR & B snogew
gl

Q) alt+=

142.

(2) ctrl + =
(8) alt + ctrl (4) F2
143. TEE A .eeeee... TF THER W 143.

ATHT T AN T T oS R

fam % &, @ o=@t & fadq, ==
ELTCREIRES

(1) Vector (2) Object

(3) Dictionary (4) Tuple

-----------

144, i T Od @Y U

e & el B s ¥ oR
T R T I A PeRa B
S B
(1) White Box Testing
(2) Black Box Testing
(3) Grey Box Testing
(4) Blue Box Testing
[ Level-3 /5321

144.

ds for - d
RO st ogrammable Rea
Era ed Pr
1) only M%—%wrggra m Read Only
grasabPléy B
Mermo” in ammable Read
3) Exasab® )P :Ygr
o
ory - ram Read Only
8 Extensive Progt
( MemoTry
Which Excel function counts ' the
C] er of empty cells in specified
lp
nange which is its only argument
b 1
(1) COUNT=
(2) COUNTIHA
@ O
(4) COUNTE, |
syM function can be quickly
entered in a cell by pressing .......
in Excel.
o) ‘alt + = (2) ctrl + =
(8) alt + ctrl (4) F2

In Python, is the type of
sequence that resembles a list,
~except that, unlike a list, it is
immutable.

(1) Vector'Z,  (2) Object

(3) Diction%y (4) Tuple

In

o the test plan is
develop_edb directly from the
Program specification and several
test cases are developed from it.

(1) White Box Testing

(2) Black Box Testing

(3) Grey Box Testing

(4) Blue Box Testing

P.T.O.
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2tk
2h

[30/C] , e setup dialog b, |
: 45. In the Ppage ; '
145. U9 Je SERfT S A e : following option(s) &re S
3 R PrioRen Rreg 9w © ¢ orientation :
(1) 9 (Portrait) (1) Portrait
(2) ds@yg (Landscape) 2 Langscape 2) are correct
@ RE )7 @) T & 3) Optlon‘s (1) & (w:rong
(4 T R o (4) All options &
. for carryin
146. &9 I 70 W & o HO P O 7 A is a &gt of rules ‘”b i
M & e FEaw ¢ out some caldnlation either By fand
or by machine, dure
(1) Function  (2) Procedure (1) Functiort -~ (2) Proceulur
(3) Algorithm (4) Formula (3) Algorit (4) Formula
147. 9 give g ¥ Rew a@ dORE 147. No. of programs processed by the
‘Mﬁﬁ'@lﬁ%w%! system per unit time is called :
(1) Throughput (2) Scheduling (1) Throughput (2) Scheduling
(3) Interrupt  (4) Processing (3) Interrupt  (4) Processing
148. 59 uRR 9 9z Rdmar ot ¥ 5 o= 148. Which procedure is characterized
AT & P qR-aR B T o by the fact that the procedure calls
, T FHI AR 95 0 & & o R 2 itself again &Ad again till the base
| (1) Nested  (2) Functional oRucHom. i fiet 7
(3 Recursive (4) Operational (1) Nested. ~ (2) Functional
: (3) Recursive) (4) Operational
149. F g8 1 ; >
L il ;‘?ﬁ SRl 3 AR £ 19 of CPU is the place where
%El ‘” : s e actual execution of instructions
: _ takes place during data Processin
g.
(1) T e (1) Control Unit
(2) SRgAf s gfe ﬁ (2) Arithmetic Logic Unit
(3) SHregafes =T qie : 3 A:rithme'% Long Unit
(4) FEEH gie 4) Concisemnjt :
150. W § Rl G A et ¥ gafg 150 L)
AFE P 3@ P feT srerfe B . tvzl';at ;{S /al'eﬁert-he.prnnary functions
T 2 E 7 .0 100X up fthe information stored
(1) HLOOKUP t?)aiitc;’étable in Excel ?
(2) VLOOKUP e
(2) VLOOKup
(3) LOOKUP
(3) LOOKUP
(QH‘&WH@T% (4) All ont;
—Obtions are correct
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